==
A & 0l & AF 2 E A A
AN HEX 0
HM: AZXOIHE S S8 NALH SHsHESL 22 /M=)
gel: d=n203 |X - KA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= X &t 18,490,288 18,716, 162 A 225,874
s 500,000
J| 512,227
< 189,773
Al 17,288,288
AXXOIAEES S& NGZH 243 (2L 22 /M=) 886,350 1,141,710 A 255,360
< 93,000
Al 793,350
=208 KX - KA 769,390 1,023,950 A 254,560
= 93,000
Al 676,390
=Mz ¥ 8=7203 | - XS 24,390 29,390 A5,000
202 4l 9,390 9,390 0
01 SLHOIYI 9,390 9,390 0
O =U-2 Halgxl ¥ AXL=0HE FA
85,000& = 3¥ * 3 * 63 4,590
O 3l M Zul 2 #ZAL =X
20,000 = 4 * 52 * 123 4,800
203 YR =2l 15,000 20,000 A5,000
03 A ZFAH S =AY 15,000 20,000 A5,000
O AZX0ANE S MESYRFA
15,000,000 * 14 15,000
NAGREU A=A TS 70,000 0 70,000
< 20,000
Al 50,000
307 glz2tol & 70,000 0 70,000
< 20,000
Al 50,000
04 QIZFHALAIH B = 70,000 0 70,000
O 20202 MAGTHHLU A d==2T2 K=
70,000,000 = 13l 70,000
< 20,000
Al 50,000
H=~1NE2 AT - A OictEUE 60,000 0 60,000
< 10,000
Al 50,000
307 glz2tol & 60,000 0 60,000
< 10,000
Al 50,000
04 QIZFHALAIH E = 60,000 0 60,000
O~ HdE - HEW Ot2tEUE KA
60,000,000 = 13l 60,000
= 10,000
Al 50,000
O=HSEI d=2WA2ct0lL s 25,000 30,000 A5,000




M HEXH B
HM: AZXOIHE S S8 NALH SHsHESL 22 /M=)
gel: d=n203 |X - KA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,000
Al 20,000
307 glz2tol & 25,000 30,000 A5,000
< 5,000
Al 20,000
04 QIZFHALAIH 2 = 25,000 30,000 A5,000
O H6al H=H=4I] HI3WA=2e0l1Y
N = 25,000,000& * 13l 25,000
< 5,000
Al 20,000
= OtctE tHal 70,000 70,000 0
< 10,000
Al 60,000
307 glz2+ol & 70,000 70,000 0
< 10,000
Al 60,000
04 DIZHHALAISE E X 70,000 70,000 0
O H153 H==0tctEUS Nzl
70,000,000& = 13l 70,000
< 10,000
Al 60,000
== QEHLIALSE 100,000 100,000 0
< 10,000
Al 90,000
307 glz2tol & 100,000 100,000 0
< 10,000
Al 90,000
04 DIZHHALALSE E X 100,000 100,000 0
O HM183 2S&H H=2LEHUANE A
100,000,000& * 13l 100,000
< 10,000
Al 90,000
H==ASE=H 018 d38d=sEU3 40,000 40,000 0
< 10,000
Al 30,000
307 gl2tol & 40,000 40,000 0
< 10,000
Al 30,000
04 DIZHHALALSE E X 40,000 40,000 0
O M543 H==HEHdSH I8 8= gH3E
Chal JH = 40,000,000& = 13l 40,000
< 10,000
Al 30,000
E FIOUHE 42H 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0




2N
X ZH -
L= B

el

=X 2 ot
AZXOAEES S8 XNAZH 43 (2stL 22 /A
d=72038 KX - Wz

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 2020 E2f 2JHE A2 H=
20,000,000& = 13l 20,000
HESI =2 g4 U2 60,000 60,000 0
307 gl2tol & 60,000 60,000 0
04 DIZHHALALSE E X 60,000 60,000 0
O HM513 H==HEHI| &= SUHHAUS K
eS| 60,000,000& = 13l 60,000
HE M &= HHEQIE S 40,000 35,000 5,000
< 8,000
Al 32,000
307 21201 A 40,000 35,000 5,000
= 8,000
Al 32,000
04 DIZHHALALSE E X 40,000 35,000 5,000
O HMb53 H=2MH &= HHEUEHUHE HA
40,000,000& = 13l 40,000
< 8,000
Al 32,000
= O HAAZX [H3 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
O H11al H=H=EMH E=2HMHUHAAL
03l 2 ML - OUIFOHAATE sa
A3l 20,000,000& * 13l 20,000
&= ArSh - GHOF MTBRIA D el 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
O HM83l == &= Atof - cHQt MTBXIE H el
30,000,000& * 13l 30,000
O=AlIEE 83 OtAEHZE =HUE 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
O HM2& =AlZH &= OtAEZE =SUH3
N 20,000,000& = 13l 20,000
Hsgdl &= dEHd=s LA 50,000 0 50,000
< 10,000
Al 40,000
307 21201 A 50,000 0 50,000
< 10,000
Al 40,000
04 QIZFSHALAIR B = 50,000 0 50,000
O H102 HHEd) d= daH=s sUAiE
N = 0,000,000& = 13l 50,000
= 10,000




<X 2 o
AXXOIHNEE S NAZH g4 (2L 22/H=)
=203 KX - R )
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
| A 70,000
st QLE/H=Z U 90,000 0 90,000
< 10,000
Al 80,000
307 gl2tol & 90,000 0 90,000
< 10,000
Al 80,000
04 DIZHHALALSE E X 90,000 0 90,000
O H13l H==2sTH @EAE =S U N
90,000,000& = 13l 90,000
S 10,000
Al 80,000
= 832 48 S4US 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 DIZHHALALSE E X 50,000 0 50,000
O 20208 0= &= A S4U3 N
50,000,000& = 14 50,000
FHE dX 288 X 2 XNgs 28 116,960 117,760 A 800
dl=zgd =X 6,960 7,760 A 800
201 et 5,600 6,400 A 800
01 At 22l 5,600 6,400 A 800
O e+t 5,600
o AZX0IANE 22 ML 7
4,000& = 1,000% 4,000
o NEME B HLU(IDE)
200,000& * 2J 4 * 43| 1,600
202 Odl 1,360 1,360 0
01 = LHA YI 1,360 1,360 0
O S.0tH dX=d8 2
85,0003 » 298 * 2 « 43| 1,360
dl=zgdg XA 40,000 40,000 0
307 21201 A 40,000 40,000 0
02 It AT EL 40,000 40,000 0
O &8X=z8g XA(s - a6tAH)
40,000,000& = 13l 40,000
HdXNEHE 2l HE 70,000 70,000 0
307 21201 A 70,000 70,000 0
04 DI2HSHALAISE 2 = 70,000 70,000 0
O &dXNEdE 28 Mzl
70,000,000& = 13l 70,000
EHFZHMOZ AQQ =S MSES NA (2L 2L/ 6,306,662 5,893,422 413,240
=)
J| 512,227




2N
X ZH -
L= B

el

$HASHTOZ AlG =25 dsgs N (222

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 30,773
Al 5,763,662
NExds =4 £ &3 2,521,227 2,273,458 247,769
Dl 218,304
Al 2,302,923
NSAX=HA KA 8,920 9,120 A 200
201 Bt A | 2,800 3,000 A 200
01 AFR2 2t 2l Yl 2,800 3,000 A 200
O 2g+y 2,800
o MSNEEs 3o BA +Y
100,000 * 14Y = 23] 2,800
202 04| 6,120 6,120 0
NIERTE 6,120 6, 120 0
O 2% 03l BHE4E 03 U #FYR =
&l 85,000& *» 3Y x 22 x 123] 6,120
HEAXMESE 29 177,061 172,722 4,339
307 212t01 & 177,061 172,722 4,339
03 AN EESAHE=X 177,061 172,722 4,339
O F=AMES 2923 XA 135,061
o AIR=E 29,668
- 20 1,741,200& ~ 1H * 128 20,895
- &3 2,741,200& + 198 23] 5,483
- @ESIHYI 2,741,200& * 60% * 23| 3,290
o AMNRXHE 37,657
- =20 2,477 ,400& ~ 14 128 29,729
- &3 2,477 ,400& + 1Y « 23] 4,955
- @EFOtYI 2,477 ,400& * 60% * 23l 2,973
o & 67,736
- 20 2,228,100 * 299 = 128 53,475
- d0u3 2,228,100 » 29 x 23| 8,913
- @EFOtYI
2,228,100& * 60% » 23 * 29Y 5,348
O == AIM=3 29b| 42,000,000& = 14 42,000
ME 2™ &2 X& 9,000 8,000 1,000
307 QI2t0| M 9,000 8,000 1,000
02 DIZtZAAMEE X 9,000 8,000 1,000
O &d=HME L A2EXHN S8 d=C X2
9,000,000& * 14 9,000
HetdT MSUsl &t 240,000 240,000 0
307 QI2t0| M 240,000 240,000 0
02 DI2HE AAIEE X 240,000 240,000 0




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O HM593 dMetds Msia &ot
240,000,000& * 13l 240,000
AMeM=ta H=E 719,000 665,000 54,000
301 LEd = 607,000 553,000 54,000
09 HALAHIX A S 607,000 553,000 54,000
O H223 AM2MSUH SHsS =8B Y| 607,000
o FA& 22,000,000& = 240 =% = 528,000
o AAHH 27,000,000&  1JHHA 27,000
o gH, EH 26,000,000& = 2JH&A 52,000
307 21201 A 112,000 112,000 0
04 QIZFHALAIH B = 100,000 100,000 0
O HM223 AM2XM=U2 izl
100,000,000& * 13 100,000
06 2= 12,000 12,000 0
O HM22z MMsSUz =88+ dHE2EE
12,000,000 » 14 12,000
(HEdH datd NEY 823 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 QB AANGFEE 3,000 3,000 0
O 2020 HEEHH detge MEZ degla &
& 3,000,000& = 13l 3,000
detgs MENSE U=sd Fot 120,000 120,000 0
307 glz2tol & 120,000 120,000 0
02 It AAHEE 120,000 120,000 0
O HM322 datdr dEMslsd &t
120,000,000& = 13 120,000
Hdetede H2UMENSUHEAE &It 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
02 It M AHE X 25,000 25,000 0
O H153 Metde M MENs HWEsd &
ot 25,000,000& * 13l 25,000
st=0i A Ht=ela0d &d 80,000 80,000 0
307 gl2tol & 80,000 80,000 0
02 IZtE M AHE L 80,000 80,000 0
O 2020 &t=0{ X4t HSel O™ &3
80,000,000& = 13l 80,000
2= SIS RS MEHS RDEHA 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 It HAMHEL 10,000 10,000 0
O E=d stgsS s d&Hs nsd FIH9
HAIZ &0) 10,000,000& * 12l 10,000




M MEXE 0

H: HAFZHMOZ AQ0| HES WSS XN (2SL2E/MK)
Sl XHS S8 L X (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2E e 28 2 A XN& 45,000 40,000 5,000
307 gl2tol & 45,000 40,000 5,000
02 It M AHE L 45,000 40,000 5,000
O 2= sl 28 L #A X2
45,000,000& = 14 45,000
UBIMEH SRS A BRI (2SXEA) 263,098 251,258 11,840
J| 109, 152
Al 153,946
307 21201 A 263,098 251,258 11,840
J| 109, 152
Al 153,946
02 It S AHE L 263,098 251,258 11,840
O getdEENEX 29 263,098
o MEM=SEXZ=X =20
1,919,000 » 8% » 12& 184,224
J| 92,112
Al 92,112
o HIERYS 355,000 = 8% = 12& 34,080
J| 17,040
Al 17,040
o guaesy 79,8509 * 8% * 5 3,194
o 29l 50,000& = 8" « 128 4,800
o I =l 300,000& = 8% « 13/ 2,400
o 04 28,800
- 2 200,000& = 8H » 123 19,200
- A 50,000& = 28 * 8H * 123 9,600
o HHEZ M 350,000& = 8H =« 23| 5,600
HEAMMEMNSXEZX BIX(2SXA) 263,098 251,258 11,840
J| 109, 152
Al 153,946
307 21201 A 263,098 251,258 11,840
J| 109, 152
Al 153,946
02 It HAHEL 263,098 251,258 11,840
O ozd dadsI=h 23 263,098
o 24 HEMSXNZX ¢
1,919,000 » 8% » 12& 184,224
J| 92,112
Al 92,112
o HIRE= 355,000& = 8H » 123 34,080
J| 17,040
Al 17,040
o FYUIRE 79,850% * 8H « 5 3,194
o 23l 50,000& = 8" * 128 4,800
o I =l 300,000& = 8% = 13/ 2,400




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 04 28,800
- 22U 200,000& = 8H » 123 19,200
- EA 50,000& = 28 * 8H » 123 9,600
o HHEZ M 350,000& = 8H =« 23| 5,600
ANRIAZZSA T2 24 33,050 38,100 25,050
307 21201 A 33,050 38,100 A5,050
02 B AAFEX 33,050 38,100 A 5,050
O ANBIAZSA T2 33,050
o N&EX =Y 400,000 * 8Y * 78 22,400
o FREL(SH) 50,000& = 1H » 73 350
o gtol3a 72 300,000 * 304 900
o I 2 0t0la =#cl  5,400,000& * 14 5,400
o 24l 500,000& * 84 4,000
Aol HiLIA CHal 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
O M23& o==Al222EH &l HLANE
i = 5,000,000& = 13l 5,000
XII2E EF2U3E 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 DI2ZHHALALSE E X 7,000 7,000 0
O HM103 H==Al2Z AT =II2E =FUS
=l 7,000,000& = 13l 7,000
H==ASHI 832 A2l OF2THE 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
O HM73 H==H=24dI] &2 M3 OFTHE
i = 20,000,000& = 14 20,000
dsyg dEMsUH 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 LB AAHEX 30,000 0 30,000
O M232 Zs<d MBSl &I
30,000,000& * 13l 30,000
ANZIIHE JH= 139,000 110,000 29,000
307 21201 A 139,000 110,000 29,000
04 QIZFHALAIH B = 139,000 110,000 29,000
O AZIItHa % XU Wzl (28HESF)
139,000,000 * 14! 139,000
O==AlZHH AR BESCHE 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DIZHH AL AR 2 & 5,000 5,000 0
O H163 H==AlZH AR HISW3 JHE
5,000,000& = 13l 5,000
SEXNS HOEEUHE 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIRIE & 5,000 5,000 0
O 2020 S2XF HOEZ al Nz
5,000,000& = 13l 5,000
oz etXi2 g2ual 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZFSHALAIRI B X 10,000 10,000 0
O HMésl oz X2 Uz M
5,000,000& = 23] 10,000
ANQITHE I & 9,000 18,000 A9,000
307 21201 A 9,000 18,000 A9,000
04 QIZFHALAIH B = 9,000 18,000 A9,000
O 2020 Oi==AIRI Xt&E1 CHE A OH =
9,000,000& = 13l 9,000
Mt XA &R 03 5,000 0 5,000
307 glz2tol & 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
O 2020 Mt S XIAHHY -2 0Hal R =
5,000,000& = 13l 5,000
SHENMUHEA LelE=2UHE 5,000 0 5,000
307 glz2+ol & 5,000 0 5,000
04 QIZFHALAIH E = 5,000 0 5,000
O 2020 & -5 KNMEA = - 5ES2 d2E
=703 = 5,000,000& = 13l 5,000
Heted S XIAtH & 2T E 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DIZHHALALSE 2 X 5,000 0 5,000
O HM153 Mt S XIAtB EF2UE =l
5,000,000& = 13l 5,000
HEAXEZZEANY SEXNJ(SHEEIAMY) 280,000 150,000 130,000
307 21201 A 230,000 100,000 130,000
03 QIZtHHHE2HHEX 230,000 0 230,000
O axAZ=328 2SN
100,000,000& * 14 100,000
O R4H 5728 0/4FC U-18 X
130,000,000& * 14 130,000
402 RIZEXtE0| A 50,000 50,000 0




M MEXE 0

M. SHEMOZ AQIQ #HET HSES NI (2FL2Z/AF)
¢ NEds 84 € A& (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 DI XI2AIE E X (XM THE ) 50,000 50,000 0
O GixAZx28 MU L 2
50,000,000& * 14 50,000
el 48 & AN X & 807,541 656,920 150,621
Jl 293,923
= 30,773
Al 482,845
ol MsdHAF XA 2,040 2,040 0
202 (4] 2,040 2,040 0
01 2LHOI I 2,040 2,040 0
AE HOUMSHA BILSC O1E W B
242 =X 5,000& * 29 * 22 x 63 2,040
H=AlEMO H=3 &9 139,927 94,027 45,900
307 QI2t0| ™ 139,927 94,027 45,900
B oIAHHYPESIHIEX 139,927 94,027 45,900
O ZfeId=s 2 Ad 119,927
o ANR=E 49,272
- 30 2,741,200& ~ 14  12& 32,895
- du3 2,741,200 * 1H x 23] 5,483
- FEFOHYI 2,741,200& * 60% * 23] 3,290
- A2 E 344 ,230% * 14 = 128 4,131
- &3 289,350& * 14 = 12& 3,473
o Xt& 40,983
- =30 2,279,300& = 19 * 12& 27,352
- &= 2,279,300& * 1Y x 23] 4,559
- Y9ZES0tH| 2,279,300 * 60% * 23] 2,736
- 424 287,270 * 14 = 12& 3,448
- §&3 240,600 * 1€ = 128 2,888
o W& 29,672
- =30 1,650,800& * 1 = 128 19,810
- &= 1,650,800& * 1% * 23] 3,302
- @ESOHYI 1,650,800& * 60% * 23| 1,981
- 4024 207,320 * 14 = 12& 2,488
- E&= 174,250& » 19 = 12& 2,091
O HHelHEs 29| 20,000,000& = 14 20,000
d= &Oe MsUHI 5,500 5,000 500
307 QI2t0| ™ 5,500 5,000 500
02 DI2HEAAIEE X 5,500 5,000 500
O M40z d= HOHQ M= &It XA
5,500,000& * 13 5,500
NMete HOMe MU 100,000 90,000 10,000




2N

o PHASMOZ ADI0l ¥ES WSS NU(2L2
SR ZOHS S8 Y 2AHS X8

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 100,000 90,000 10,000
02 PIZHEHAHEE 100,000 90,000 10,000
O HMe2gs detde HOMEUa &It XA
100,000,000& * 13l 100,000
MdE =H X0 Ot2tEUS 4,000 3,500 500
307 21201 A 4,000 3,500 500
02 It S AHE L 4,000 3,500 500
O M283 M2=HM M0 OttEUH2 &It X
2 4,000,000& = 13l 4,000
ESE =3 FANM=sH 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 ItFAAHEX 10,000 10,000 0
O 2020 =8 &= HHAM=UHZ Nzl
=M 10,000,000& 14 10,000
g sotel M=sisl 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 HAFHAANGFEE 5,000 5,000 0
O HM203 &Y =0t MsUa &It
5,000,000 = 13l 5,000
detgdE AIZEe M=E3 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
02 It M AHEE 3,000 3,000 0
O M58 dMetdx AIZEOMAM =L &It
3,000,000& =+ 13l 3,000
detge FoHel MEM=sHE 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
02 IZHE M AHE X 15,000 15,000 0
O 2020 dMetge ZOHQMEHSUE It X
2 15,000,000& * 13l 15,000
Zofol MEHs NS BHXl XI& 129,149 62,815 66,334
J| 54,576
Al 74,573
307 gl2tol & 129,149 62,815 66,334
J| 54,576
Al 74,573
02 IZHE M AHE L 129,149 62,815 66,334
O HMHAUENSANEXN 2 129,149
o MENM=EXZ=X =20
1,919,000& » 4% » 12& 92,112
J| 46,056
Al 46,056
o HERE= 355,000& = 4% = 128 17,040




2AM: HEXHEY
HH: SAHASHMOZ A0 #=E HEES M (2SL2AZ/HK)

= ST

=

e HHoAd=E 4 L AJAHES N (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 8,520
Al 8,520
o U2 79,850 * 4% x 5 1,597
o YAESIIH| 350,000& * 4% * 23| 2,800
o 94| 100,000& * 4% « 128 4,800
o I=2H| 300,000 * 4Y = 13| 1,200
o (4| 200,000& * 4% * 12& 9,600
o= Al ZO0HQ MEH I 27,000 25,000 2,000
307 2iz2to| A 27,000 25,000 2,000
04 QIZ2tSHAFAFS B X 27,000 25,000 2,000
O H223 H2=Al HOHAMEMSUHI A
27,000,000 = 13| 27,000
AZX2E 0l2d N 317,925 341,538 N23,613
J| 222,547
& 28,613
Al 66,765
301 et A= 317,925 341,538 N23,613
J| 222,547
= 28,613
Al 66,765
01 Al E & A 462 317,925 341,538 N23,613
O AZXUZ 012F XNSAY
317,925,000& = 14 317,925
J| 222 547
= 28,613
Al 66,765
ool AZ2AX0IE2H XS 24,000 0 24,000
J| 16,800
== 2,160
Al 5,040
301 et A= 24,000 0 24,000
J| 16,800
= 2,160
Al 5,040
01 Al E & A 462 24,000 0 24,000
O &0 AZx2X 0l2d XN
24,000,000 = 14! 24,000
J| 16,800
= 2,160
Al 5,040
IMAI (O ==, &=, Z2Y) ZOHMENS WEHM 10,000 0 10,000
307 2Iz2t0| & 10,000 0 10,000
04 SIZ2HSHAAISH E & 10,000 0 10,000
O 2020. 3MAI (0%, =&, Z2) ZOHQ A&
= WsA A 10,000,000& = 13 10,000




2N

M=KD

=

HM: SHAEZFMOR ADIQ HEE Hes2E2s N (23t /HS
Sl FHOUMS B4 L ASANS X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZoeIMEs HFies(0l?) N 15,000 0 15,000
402 BI2H X 20| M 15,000 0 15,000
01 It EANSEXZ (MMM A) 15,000 0 15,000
O 2020. ZoI2&(0I%) N (AR)
15,000,000& = 1A 15,000
S=E 4 € XA 339,100 347,100 A 8,000
StDNHEF A 339, 100 347,100 A 8,000
308 MXISHMSOIA 339, 100 347,100 A 8,000
08 I |20 HstE = 339,100 347,100 A 8,000
O &n 2sdJ|18 XN& 116,700,000& = 14 116,700
O &n 82s&3JI18 NE=X X
300,000& * 34¥ = 128 122,400
O &t 2 dplE HY=s N
100,000,000 * 14! 100,000
AA2SAHIIE 4 2,638,794 2,615,944 22,850
MNALRESHIE 2E2Y 2,454,794 2,429,344 25,450
101 e1214| 32,864 32,214 650
04 J|12ZtHIZ22NEES 32,864 32,214 650
O dag gaa Agols 32,864
o ol 68,720 * 1 * 52 x HF2F 17,868
o T 68,720& ~ 1&H x Hh2=x 3,574
o MEBAZ BELY
6,880 * 1H » 6 * H2F 2,147
o ANSEBEE= 4,064,190 = 14 4,065
o gAZ 5,210,000& = 14 5,210
201 gEt2A | 48,680 48,680 0
01 AF2 2t 2| H| 9,520 9,520 0
O detx=24| 9,520
o NF2SYIL B 2Y 205 7
300,000 = 43| 1,200
o HdaT gAY AIPE 7Y
130,000 * 32& * 23| 8,320
02 Z2=2=24%4| 39,160 39, 160 0
O 2222 2 HA 24,160
o NESSZIIR g4 alfl Y BB
500,000& * 2= * 12& 12,000
o AAMNMEE MHWEE= 230,008 ~ 329Y 7,360
o ASQREZ MIZ(REEY AI222H)
200,000 ~ 12€ 2,400
o ASQEX ML (REY AR)
200,000 ~ 12€ 2,400
O A& &HlsXdl 15,000




M HEXH B
Hu: HAEMOR AR H=s HSTS NA(2HLBY/AS
Sl NEFSSPIIL |4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o HZesZ)T 854 NE SA
10,000,000& * 14 10,000
o NFLRSHIR EH0IYY 27 8l
5,000,000& = 14 5,000
202 O4dl 2,040 2,040 0
01 =S LH YI 2,040 2,040 0
O HE2SZIR d=U3a It &
85,000& = 38 = 2 « 43| 2,040
301 LEd = 2,371,210 2,346,410 24,800
o=t - 2S2S243 2,371,210 2,346,410 24,800
OR=10; 1,385,000
o Z= ¥ IX(ASH) [, RE, 2&,
=r 5,000,000& = 59 = 12& 300,000
o d=x(ASH) 1,085,000
- E8 60,000,000& » 4H 240,000
- A= 45,000,000& * 109 450,000
- B= 38,000,000& * 5% 190,000
- C= 30,000,000 = 3H 90,000
- b= 23,000,000& = 59H 115,000
O ggag(2Zs, 2X, d=)
200,000& = 32¥ » 123 76,800
O XN&eXt =€g(Zs, 21)
300,000& = 58 « 12& 18,000
O Mt 60,600
o 2= 2 ZX 200,000& = 5H « 123 12,000
o M= 150,000& = 27 = 12E 48,600
O EHI(S=4l, 2tAadl, S4dl 28
450,000 = 2% = 128 172,800
O ng=¢ 69,600
o 20E 100,000& = 20 = 12& 24,000
o 20E 80,000& * 256%H » 12& 24,000
o SHE 60,000& = 309 = 12& 21,600
O ZEH=EE = A
166,200,000 * 14 166,200
O AMalEEZE 13,700,000&  12& 164,400
O MAEMEE NEeX (2=, ZX) S0
85,000& * 5 * 54 » 23] 4,250
O d=303s &80
85,000% = 329 » 52 « 53 68,000
O &X =&t 85,0003 = 32 * 9g « 23| 48,960
O d=th &+Z 3¢ 450,000& = 12& 5,400
O d=2HMA &8 & N
1,000,000& * 4B = 4,000
O 2= ZA(IHR2USE)
5,000,000& = 14 5,000




M MEXE 0
Hu: HAEHOR AR B2 HSTS NA(2HLBY/AS)
Sl NEFSSPIIL |4 CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O s ZA(MIR2018 SHE) 2,200
= 19 1,000,000& * 13l 1,000
o 2% 700,000& * 13 700
o 39 500,000& = 13l 500
O R TA(MI A28 o H) 9,000
= 19 300,000& = 5% = 23] 3,000
= 2% 200,000& = 10Y « 23] 4,000
o 39 100,000& * 102 = 23| 2,000
O R ZA(HIME 256=) 11,000
o 14 1,000,000& = 59 * 13 5,000
o 29 700,000& = 5% = 13 3,500
o 3% 500,000& = 5% « 13 2,500
O 2NUE d2 2g
300,000& = 4% = 12& 14,400
O 2=+ &g 70,000,000 =+ 14l 70,000
O A¥2SEIRE Xy
130,000& *» 5& * 243 15,600
QEY 29 62,560 60,060 2,500
301 LeBAF 62,560 60,060 2,500
o=t - 2s2SELS 62,560 60,060 2,500
O &=03 =& &l 2¢ X
1,500,000& = 43| 6,000
O dXEsetl(&35, Zdl28tl)
10,000,000& » 14 10,000
O 283 #¢ 21,280
o Feold 200,000& = 7F = 23 2,800
o &= 180,000& = 7 « 13/ 1,260
o 253t 200,000 = 7H = 23] 2,800
o FUS 180,000& = 7 « 12l 1,260
o Ysts 300,000 = 79 = 13 2,100
o oft= 130,000& = 72 ~ 12/ 910
o QEZFI= 1,100,000& * 7 * 13 7,700
o FEEd03a 350,000& = 7€ ~ 12/ 2,450
O RE &% ZH ui ¢ =4
2,000,000& = 14l 2,000
O XN&EF =cltl 1,200,000 * 14l 1,200
O QEXNEZE 2L (S7U) 200,0008 = 128 2,400
O REE d==5Hl 80,0008 * 64 480
O REXNEH s 28z
1,000,000 * 14l 1,000
O REZFH 2285 7¢ 18,200
o ZHM4702(olle!, &, AEAY)
5,300,000& * 1MIE 5,300




M MSX A
M. SHEMOZ AQIQ #HET HSES NI (2FL2Z/AF)
Sl NEFSSPIIL |4 CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
o ZM49%r2 M (oo, &, ATAY)
7,600,000& * 1M E 7,600
o ZMAUOIMS(MY, BIAE, 8)
3,000,000& * 1MIE 3,000
o rsxz (MY, OAE, 8)
2,300,000& * 1MIE 2,300
29 23,460 28,560 A5,100
BtE X = 23,460 28,560 A5,100
Hasca - 2sESEAZ2 23,460 28,560 A5,100
O 282 ¥ 16,980
o F2lyY 200,000 = 8YH = 23] 3,200
o 2s3H (Y E) 200,000 * 8YH = 23| 3,200
o Jigt 90,000& * 8Y * 13 720
o ggts 300,000 * 8H = 13| 2,400
o &= 180,000 * 8Y * 13 1,440
o RLUS 180,000& * 8Y * 23] 2,880
o o= 130,000 » 8YH x 13| 1,040
o HdZE AO0I2 350,000& * 6Y = 13 2,100
StmAgRAAY AF Y|
3,000,000& * 13 3,000
istsa4dd 4~ S=H 30,0008 * 6% 180
stsaZIAY 3 &Ity
10,000& * 6Y * 53] 300
HHFRY (MY, 22 EXHY S)
3,000,000& * 13 3,000
2y 25,080 25,080 0
S S = 25,080 25,080 0
VU= - 2sESE242 25,080 25,080 0
O 2sg3+¢ 22,080
o SCE(HM, BHM)
500,000& * 8Y * 23| 8,000
o R 60,000& *» 8H * 13 480
o 253 200,000 * 8Y = 23| 3,200
o Jigt 90,000& * 8H * 13 720
o xcalyY 200,000 * 8Y = 13 1,600
o JlEtzdE= 200,000 = 8H * 23| 3,200
o &5 180,000& * 8YH * 13 1,440
o dots 300,000& = 8H = 13 2,400
o ot= 130,000& * 8YH * 13| 1,040
O S2AHdREAHB AFIH|
3,000,000& * 13 3,000
229 29 72,900 72,900 0
301 dEtE2dZ 72,900 72,900 0




M HEXH B
HM: HAFZHMOZ AQ0| H=EE Hs2s KN (2L2Z/H
ool AFRESAIS §4 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NVi=td - 2sRSEd= 72,900 72,900 0
O 2583 #¢ 16,740
o Fcld 200,000& = 9% =« 23| 3,600
o |LUS3 180,000& = 99 « 23] 3,240
o 23t 200,000& = 9H =« 23| 3,600
o Jtgt 90,000& = 99 « 13 810
o &= 180,000& = 9& = 12l 1,620
o gEt= 300,000& = 9Y = 13/ 2,700
o o= 130,000& = 9& « 12l 1,170
O BUIPY(Y, #=, Zalg, Hoig, B,
gt3) 7,000,000% * 8H » 13 56,000
O HetEdZIIdY d5 SEHI
0,000& » 8H 160
AR BNt B3HMSAE 2 (2L 22Z/HS) 4,570,163 5,521,862 A 951,699
s 500,000
< 66,000
Al 4,004,163
SSHSAE &5 & Fyl 4,570,163 5,521,862 A 951,699
s 500,000
< 66,000
Al 4,004,163
HEAL &5 & FH 640,000 600,000 40,000
< 30,000
Al 610,000
401 Al HIZ 201 8] 640,000 600,000 40,000
< 30,000
Al 610,000
01 A& HI 635,068 595,500 39,568
O SBHMSANE(HE, NEE) B FHl
100,000,000& * 99.1/100 99,100
O HIF Is2Y L =5
00,000,000% = 99.28/100 496,400
O X277 HHl 40,000,000 * 98.92/100 39,568
< 30,000
Al 9,568
03 AIE 2 THHI 4,932 4,500 432
O SZHSAE (A2, ANlEd2) 24 FH|
100,000,000& = 0.9/100 900
O Z7% Js22 2 =5
500,000,000 * 0.72/100 3,600
O AZERZ FHHl 40,000,000& * 1.08/100 432
SUMSAE &5 & FHl 1,880,163 821,862 1,058,301
< 36,000
Al 1,844,163
101 1244 dl 18,147 17,646 501




2N
X ZH -
L= B

el

K& ot
I Mot SSHEANE SF(2AL2Z/HS)
ISAIE &5 & FH

B EH(SH) - MM - BES 0l b SSa DS
04 JIZtHZ22 s+ 18,147 17,646 501
O sUMSAE2e ==Y 12,097
o IRy 68,720& = 2 * 402 « 23l 10,996
o MEAT BELY
6,880% * 2H » 40€ * 23 1,101
O Fs¢ SUHSAIE atZa 2el 3,025
o o8y 68,720& * 1€ * 48 » 103 2,749
o M3 BE4Y
6,880& * 1H * 48 » 103 276
O 32 HOESE tEA 22 3,025
o 2Ry 68,7208 * 18 * 49 » 10& 2,749
o M3 BE4Y
6,880% * 1H » 49 » 103 276
201 LEr2A | 113,816 106,016 7,800
01 At 22l 8l 2,907 2,907 0
O et==&H| 2,907
o FSL FEFY Ml E 22
181,600& * 128 2,180
o LA HNOE=SH &4 ExXel & &
el 181,600 * 43 27
02 =224l 110,909 103,109 7,800
O =232 % HMA 509
o SUMSAE dMIlg 9 o= =
42,3703 « 128 509
O AE&EH KX 110,400
o SUMSAE |RX 22
500,000& = 368704 = 60% 110,400
202 Oddl 1,200 1,200 0
01 = LH 4 Hi 1,200 1,200 0
O sUHMSsSAE 38 22 gRFA
20,0003 = 2% * 5% « 63 1,200
401 Al HI K 201 I 1,747,000 697,000 1,050,000
< 36,000
Al 1,711,000
01 A& HI 1,726,762 691, 147 1,035,615
O JIE SURSAEODIZR, ME2) 2+ &4l
150,000,000& * 14 150,000
O S&5 MIIOIE SUHMSAIE 84X (F2a
o) 20,000,000 * 98.92/100 19,784
O Sdts TANS SUHHSAE 84X (F2a
o) 20,000,000 = 98.92/100 19,784
O sitg EdE SUHMSAE £X
20,000,000& = 98.92/100 19,784
O 2ot tHZ1el SUMSAIE dX(FeEA
) 20,000,000 = 98.92/100 19,784




SM: HMSXRD
2 A EHote SSHEAE S5 (2AL2F/AR)
&2 SSHSAE &5 L FH|
= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
O AgtH A=32 SUMSAIE X (F2E0
) 25,000,000& = 98.92/100 24,730
O 4ct®H Ab24el sUIMSAIE &X
20,000,000 * 98.92/100 19,784
O 4ct tHZE2e sUMsSAE &X
25,000,000 * 98.92/100 24,730
O At At=EX2 HOESH 58 A3
=by| 20,000,000% * 98.92/100 19,784
O 2&Y AuitEe SUHHSAME X (=2
o) 20,000,000& = 98.92/100 19,784
O 2&Y SHitlg sUHSAME 4x(=2F
o) 20,000,000& = 98.92/100 19,784
O 2% JANoESZE FH
30,000,0002 * 14! 30,000
< 15,000
Al 15,000
O 8&H HNIE=HE s A
300,000,000& = 97.22/100 291,660
O stgdH s sUHHMSAME dX(F2F
o) 30,000,000 * 98.92/100 29,676
O stgd ssitE2 sUMSAE X (2
o) 20,000,000& = 98.92/100 19,784
O 3t2ddH =0t sUMSAE &X
20,000,000 * 98.92/100 19,784
O 3t2¢® 0|20t sUMSAE &X
20,000,000& * 98.92/100 19,784
O st A0S sUMSAE &X
20,000,000 = 98.92/100 19,784
O st J0(MS)0t2 sUMSAE &X
20,000,000 * 98.92/100 19,784
O oA Ax SHMSAIE &
20,000,000 = 98.92/100 19,784
O &&H HEZ HLULAE JIsEE
200,000,000% * 99.28/100 198,560
O &atH =& dote sUMSAME &X
15,000,000 * 98.92/100 14,838
O =28 88 JIskEZ
20,000,000 = 98.92/100 19,784
O 33= 68 SUNSAME EX(FUEA)
20,000,000 = 98.92/100 19,784
O D428 38 SUMSAE FIt dx1(F0 &
o) 20,000,000& = 98.92/100 19,784
O 8= stdsd SUMSAE gx(F
o) 20,000,000& = 98.92/100 19,784
O s 28 sUMSAME &X
25,000,000 * 98.92/100 24,730
O =28 HUAZE JIsEZ
200,000,000 * 99.28/100 198,560




2A4: MR
HaM: AlDID SHolE ZZ2HEANE S (2L 2Z/HE)
Sl BTHSAE 25 L Y CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 2= AMUESEZR2E SUHMEAIE &X
30,000,000 = 98.92/100 29,676
O 2+ 22 SUHMSAIE &1
20,000,000 = 98.92/100 19,784
O0lEs s SUHHM=EAAE HH|
60,000,000 = 99.1/100 59,460
O CHALE LGAIE S SUIM=AIE &X
40,000,000 = 98.92/100 39,568
O oatE SHMSEAIE =0 &X
20,000,000 = 98.92/100 19,784
O 4Ass SUHHASAE AX
20,000,000 = 98.92/100 19,784
O #AsS17E SUHHSAE &X
20,000,000 = 98.92/100 19,784
O AESEEASEXNZ HOESH BT WM
5,000,000& * 98.92/100 4,946
O 8&S HHXE SUMSAIE &X
30,000,000 = 98.92/100 29,676
Odlls =232 SUHMSAIE &X
20,000,000 = 98.92/100 19,784
O 0&Es T3 SUHHMSAIE &X
20,000,000 = 98.92/100 19,784
O F&s HZEO2 sUMSAIE &X
20,000,000 = 98.92/100 19,784
O F&s IS0 sSUHMsSAIE X
20,000,000 = 98.92/100 19,784
O Fa&s HOEESE AU
22,000,000 * 14! 22,000
= 11,000
Al 11,000
O s9s 2102 sUHMsSAIE &X
20,000,000 = 98.92/100 19,784
O HOIEEXE JseEd
20,000,000 = 98.92/100 19,784
& 10,000
Al 9,784
02 2teldl| 6,180 0 6,180
O &Y% HOEESX XN HE
300,000,000& * 2.06/100 6,180
03 Al&E 201 Y| 14,058 5,853 8,205
O s4tg MJl0tE SUHMSAIE &X
20,000,000& = 1.08/100 216
O =s4tg ZAOIS SUHMSAIE &£X
20,000,000& = 1.08/100 216
O =4tg 88 SHHM=EAE &K
20,000,000& = 1.08/100 216
O 4ctd =12l sUldsAIE &X
20,000,000& = 1.08/100 216




2H4: M
Eﬂ

X
u: ABD BHots BRUSAL HE(SHLDB/MS)
S BTHSAE 25 2 I
SA- - H2A(3A) - MM - BES Ofl &F 4
O 2ot8 A=3el SUASAE 24
25,000,0002 * 1.08/100 270
O 228 AR42l SUHSAIE £
20,000,000% * 1.08/100 216
O 228 E22| SUMSAIE £
25,000,0002 * 1.08/100 270
O 22tB A2=X2 HOIESH =0 232
R 20,000,000% * 1.08/100 216
O BZ8 A0S SUMSAE &1
20,000,000% * 1.08/100 216
O BZ8 2H0E SUMSAE &1
20,000,000% * 1.08/100 216
O 820 HOEESH X A
300,000,000 * 0.72/100 2,160
O 3B SHOS SUMSAL &1
30,000,008 * 1.08/100 324
O 3B 3S0S SUMSAL &1
20,000,0008 * 1.08/100 216
O 3B S0t SUMSAE &1
20,000,0002 * 1.08/100 216
O 3B 0120t SUMSAE &1
20,000,0002 * 1.08/100 216
O st® OIS SUMSAE =0 &1
20,000,000% * 1.08/100 216
O 3B TO0(HS)0S SUMSALE £
20,000,000% * 1.08/100 216
O 3B AUME SUMNSAL 23
20,000,000% * 1.08/100 216
O S&B BT HUAE Js22
200,000,000% * 0.72/100 1,440
O S8R 2% Zo%t2 SUMSAE &%
5,000,000% * 1.08/100 162
O =28 223 Jlsz2
20,000,0008 * 1.08/100 216
O 23S 65 SUMSAE &X
20,000,000% * 1.08/100 216
O 14S 38 SUHSAE =0t &%
20,000,008 * 1.08/100 216
O 22S SYBA SUMSAL &1
20,000,000% * 1.08/100 216
O RS 28 SUMSAE &X
25,000,0002 * 1.08/100 270
O 2 HUAH Jls2Y
200,000,000 * 0.72/100 1,440
O 2S A= SUANSAL &
30,000,0008 * 1.08/100 324
O 245 K22V SUMSAE &1
20,000,000% * 1.08/100 216

=

i
2m




M HEXH B
FH: AL BHGte SSHEANE 2S5 (2L 2 /MK)
Sl BTHSAE 25 L Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O DEs a4 SUHMSAE EHl
60,000,000& * 0.9/100 540
O Q&S LGAE S SUIMSAIE £X
40,000,000& * 1.08/100 432
O otatEs sUIMSEAIE =t £X
20,000,000 =+ 1.08/100 216
O A58 sUHSAIE £
20,000,000 =+ 1.08/100 216
O #1178 SUIMSAE £X
20,000,000 * 1.08/100 216
O HSESEMI=EXZ HOESHE BT uA
5,000,000& * 1.08/100 54
O S&ES HHIXE SUHMSAME &X
30,000,000 =+ 1.08/100 324
Olls =s23&d sUHSAME &X
20,000,000 =+ 1.08/100 216
O s T¥3d sUHSAME &X
20,000,000 =+ 1.08/100 216
O &S HELS SUMSAME &X
20,000,000 =+ 1.08/100 216
O & st sUMSAME &X
20,000,000 =+ 1.08/100 216
O 828 202 sUHMSAE &X
20,000,000& = 1.08/100 216
O ANoE=SH JIsEL
20,000,000 = 1.08/100 216
dg HHEQEH ¥R E AHE 1,700,000 0 1,700,000
s 500,000
Al 1,200,000
401 AIEHI L 20 1,700,000 0 1,700,000
s 500,000
Al 1,200,000
01 A& Hl 1,482,400 0 1,482,400
O dgHiEeE M7y AE
1,700,000,000& * 87.20/100 1,482,400
s 500,000
Al 982,400
02 Zteltl 211,480 0 211,480
O dgHiESE dE87E HE
1,700,000,000& * 12.44/100 211,480
03 AIE 2 THHI 6,120 0 6,120
O IYHWCSOE H87E A
1,700,000,000& * 0.36/100 6,120
HOIEZEE JIsEZ 350,000 300,000 50,000
401 AIEHI L 201 350,000 300,000 50,000
01 A& Hl 340,865 291,660 49,205
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M MEXE 0

FI: ANQ BHAFO HSAME 22 - 22 (2L22Z/HS)
Celr MSAE 29 2 2e) (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
S AN O A
3,000& = 108 = 24= 720
201 L2l 818,468 823,590 A5, 122
01 At 22l 180,382 187,572 AT,190
O e+l 165,122
o HMESAE 3T S$FES 7L
48,892,000& 14 48,892
o 2835 Y 1,000,000& = 7JH 4 7,000
o AHlosdE £ 150,000& *» 5MIE 750
o MSAIE gHALS 1,500,000& =* 43| 6,000
o MSAE Lo L S0 HE (W)
80,000& = 23] » 12& 1,920
o MEANE28 I (HL)dE stz
=B 6,000,000& * 2044 * 23] 24,000
o MYHE=a I |ANES Y 849
H & A== 3,000,000& = 43| 12,000
o HIIGIMTY 8 242
4,400,000& = 12& 52,800
o AYOFBR Y 242
780,000& = 12& 9,360
o Ro&Hl AEY 2FHl  200,000& * 12 2,400
O 2g8=¢ 7,800
o i 60,000& = 18 = 115¢ 6,900
o X (HHUYT) WU+
60,000& * 153 900
O ml=sl 2,000
o MEsAd2ed 25, HHS
200,000& = 5% =« 23| 2,000
O gxz 5,460
o d=J| dXtz 41,000% * 5CH = 128 2,460
o St&EA "l AMEE
25,000& = 10CH = 12& 3,000
02 2=2Z 4l 638,086 636,018 2,068
O 3323 ¥ HA 459,978
o &Iz 22,000,000 * 12& 264,000
o & o= Z 15,000,000& = 12& 180,000
o Stz 190,000& * 128 2,280
o Ot RAAZF FH=
5,500 * 34 + 12& 198
o BZMEREZ 6,500,000& = 14| 6,500
o NsSRERFEZ 7,000,000& = 14 7,000
O A& ZEHIKXb 169,708
o M=o Wue) sl
100,000 * 66CH 6,600




M MEXE 0

FI: ANQ BHAFO HSAME 22 - 22 (2L22Z/HS)
Celr MSAE 29 2 2e) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o JIEAIE 2 Wit d| s X 2teldl
100,000& * 88CH 8,800
o HEgxsX&2lH - 2048 =
4,000& = 10,100m’ 40,400
o HEgxsX&2ldl - 204 0|dt
2,500& = 5,100m" 12,750
o A2 X &2l8l - 540156t
1,000& = 2,958m 2,958
o SDY MAMY U 2HY NS
2,300,000& = 12& 27,600
o oS NS
200,000& = 1758 * 30% 10,500
o L% SJI7 ZHI(EHEE LED)
100,000& » 950 * 10% 9,500
o L: AYAIE RAI&L
200,000& = 33| » 123 7,200
o JIHA H=EHEZ SXNE=
1,200,000& * 204 2,400
o EY¥3 HFa 3,000,000& = 23| 6,000
o M&T KRz
2,000,000& = 38 * 23l 12,000
o SEEH KA 22
500,000& * 58 * 43| 10,000
= CCTV s X 2el 200,000& = 1504 3,000
o S¢& ¥ MAFH mX2a
500,000& * 28 = 33| 3,000
o MESAE dXNZMW AMAE 2=
1,000,000& * 7JH 2 7,000
O Xtgdery| 8,400
o FAXE |A el
350,000& = 28 = 123l 8,400
202 oddl 510 510 0
01 =i 4 1l 510 510 0
O MSAE otdze g2 WS Yl
85,000& = 3H « 23| 510
206 M= Hl 28,460 38,310 A 9,850
01 =8l 28,460 38,310 A 9,850
O &Ci&el & 28 2el 2,975
o Hols 2 Mz 2L
20,000& » 59 « 23] 200
o Hz7Y 15,000& * 10% * 23| 300
o OIRXAC 228 2 7L
30,000& = 20m’ 600
o BAZE &0 7Y 500& = 15& = 250m’ 1,875
O A2=5 uH 3,585
o 435D 33,000& = 3kg = 1504 1,485




2A4: MR
HaM: AlDI BALFEO HESAYH 2F - 22 (2L Z/HE)
2 MSAE 29 2 2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o AESA(15m) 70,000€ = 3004 2,100
O FAIMAIE B4 2
220,000€ * 5= * 23| 2,200
O Eots 2|2 s U orAI| 22l (250W)
80,000& * 10JH 800
O 8IINEZE KA B2 AHMHF2Y
300,000& = 4= * 12€& 14,400
O gdsa 8, S8 UM 2L
900,000& * 5= = 13| 4,500
Ne4+HA 29 2 22| 2,089,136 1,885,270 203,866
308 XAXIGHHSO0lI& 2,089,136 1,885,270 203,866
10 2| 2SHUSHEAXERAE AL 2,089,136 1,885,270 203,866
O AL+Yy™ 2 2 el AL
2,089,136,000 = 14! 2,089,136
0o 200 xMHAEH 28 2 2 625,306 815,058 N 189,752
308 XHXIEHSOIA 625,306 815,058 N 189,752
10 212 SUHUSHEAXEAE AT Y| 625,306 815,058 A 189,752
O Zofe =20MFHE 29|
625,306,000& = 14 625,306
A0EINE 29 L 22 707,818 712,503 N4 ,685
101 Q124 H| 124,891 122,820 2,071
04 JI2ZtHIZ22NEES 124,891 122,820 2,071
O F=HI|1& 22 76,206
o oIl 68,720& * 144 x 6 » 123] 69,270
o MEYZ LY
6,880 * 1498 * 62 * 123 6,936
O BX&FINE &e 27,217
o ol 68,720 * 5% x 6L x 123 24,740
o MEZ ALY
6,880% « 5 x 6L * 123 2,477
O BXZFINE & F=H ¢, HEH M= &
= Hl 2| 7,259
o olggl 68,720& ~ 8% x 12 6,598
o MEAZ BPH4LY 68808 * 8Y + 122 661
O 2UZE dAIE 34K 13,609
o ARY(E  BXPIIF)
68,720& * 3Y¥ * 3 x 203 12,370
o MEAD BHELY
6,8802 * 3% x 32 *x 203 1,239
O HMsAL22d &g=2, 2HS5
200,000& = 3% * 13| 600
201 Bt 521,322 505,278 16,044
01 AP 22| H| 84,690 74,646 10,044
O dut=24| 70,870




M MEXE 0

FI: ANQ BHAFO HSAME 22 - 22 (2L22Z/HS)
Sl MSAL 2y o 2 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o &Y FASE PL(L0tF - EXZIE
, HOIEESH) 24,720,000 » 14l 24,720
o ANES 22 3485 7Y
500,000& = 12& 6,000
o 28&3 72 500,0008 * 24 * 23] 2,000
o HI otEBE B 42
500,000& = 12& 6,000
o AY OIEBI W 242
600,000& = 12& 7,200
o YUIAIE ANLE LB 248
20,000,000& * 13l 20,000
o YOI NS HIIHY +42
4,950,000& = 13l 4,950
O 2g=¢ 8,400
o YR G 60,000& * 198 = 115¢ 6,900
o X (HAFE) HH 49
60,000& * 253 1,500
O gxz 4,620
o H=J 2 HiO 2xt
55,000& = 700 ~ 123 4,620
O m=l 800
o MSAE22F HYgs, HHst
200,000& = 49Y « 13 800
02 23224l 436,632 430,632 6,000
O 32=22= & AA 317,500
o HIB(LOIFINE, HOEEHN)
14,000,000& = 12& 168,000
o MO+ E(20HEINE, HIESH)
12,000,000& = 12& 144,000
o SHg 125,000& * 128 1,500
o NESRY RE3 4,000,000& = 14 4,000
O AM&&EHIs Xl 119,132
o 0otAINE 25,000,000& * 1JH 4 25,000
o &5, 88 MEHUAE
8,000,000& * 2JH A 16,000
o MAEZIOEZH 8,000,000& * 1JH 4 8,000
o oNt T BEAFIE ZERY
10,000,000& * 200 £ 20,000
o 20t F-BXZINE ¢33 &
2,500,000& = 23| 5,000
o 0tAINE MII4H ¥ AYLEH RA2
2l 6,700,000  30H A 20,100
o ADAHOIE=SZE LED &I |A2el
500,000& = 104 5,000
o ANAINE Ets K2l
176,000& * 575 10,032




M MEXE 0

Za: A9 HAAFO HSAL 29 -

g2 MSAE 28 ¥ 22l

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 0tV E d2E o HELH |2
2,500,000& * 400 2 10,000
202 O4dl 765 765 0
01 = LH 4 Hi 765 765 0
O 20t3INE =2 g2F2 ol
85,000& = 3% = 32 765
206 M= Hl 30,840 62,140 A 31,300
01 M= 4l 30,840 62,140 A 31,300
O &0 & =5 228 s ¢ 9,000
o MOFE Hols M HE 2
15,000& = 4098 = 33 * 53| 9,000
O 20t&dJ1& &0+& el +< 8,600
o &C 7 4003 * 200F * 25m * 200 A 4,000
o HE FL(=SH R 38)
23,0003 * 100& = 20 4,600
O E7% 2A00IUE +HHAUE
50,000& = 300 * 153 * 2044 4,500
O ¥oEINE =88 ¢ 8,740
o ZOIF o4FII Y I (1000M) 7Y
287,000 * 204 5,740
o FIIF AWAS AE 6D I 2
20,000& = 10094 2,000
o MIIA GHIXH 2
200,000 = 1JHA * 53 1,000
405 Xt&tE SHI 30,000 0 30,000
01 AL EFHSHI 30,000 0 30,000
O 20t 418 32 3828 78
30,000,000 * 1= 30,000
LAoI=CHSHH 22 2 2l 1,735,714 1,242,337 493,377
202 044l 3,360 0 3,360
01 = LH o4 1l 3,360 0 3,360
O &g 20t ZUAICMSHH BIEX
2l & BAFNWH 20,0008 * 2F « 7 « 123 3,360
308 XXM SO A 1,732,354 1,242,337 490,017
10 B2 SHUe3AHEAE A 1,732,354 1,242,337 490,017
O 20=CXMsdE A AL
1,732,354,000& * 14! 1,732,354
S=xdsa 29 & 2al 160,613 159,694 919
101 @144 Hl 5,747 5,588 159
04 JI2ZHHZ2XEE S 5,747 5,588 159
O d=U3 L Al BHAZE HAS 3,025
o IRy 68,720& * 2% * 28 * 103 2,749
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M MEXE 0

M AQ BHORFO HSAE 2Y - H2(2F}YL2Z/ASF)
S AL 29 L 2 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o UAXG 60,000 » 1¥H x 115 6,900
O 1=l 200
o MAl&2ed &gs, Hg5 2
200,000& = 1H = 13 200
02 35244l 76,980 58,580 18,400
O 222=2 2 HMAl 52,480
o SHHHER, A2 E 44,080
&2 3,100,000& = 12& 37,200
- Mot 2 500,000& « 12& 6,000
- Sz 65,000& * 128 780
- nNEsRY 22 100,000& * 13 100
o ZSSEMSAE 8,400
- &ol=2 500,000& = 12& 6,000
- Mot 2 200,000& = 128 2,400
O AM&EEHI s X 24,500
o MEs&d Ald B 2 S
9,500,000& * 14 9,500
o AIERAH FA 22| 5,000,000& * 14 5,000
o ZSHEANE A2
10,000,000& * 14 10,000
202 (4] 850 850 0
01 2L Y| 850 850 0
O St 88 & AL gR2FA
85,000& x 2¥ x 53] 850
206 T2 HI 1,000 1,000 0
01 X bl 1,000 1,000 0
O st & N2 E 22 X 1,000
o M) - AMAIE E== I
100,000& * 5& x 23] 1,000
405 XHo&HF SHI 24,400 0 24,400
01 JHMHE =2 Z F S H 24,400 0 24,400
O g7 #¢ 1,700,000 = 1204 20,400
O s+, 83, HiEod s 282 #¢
1,000,000& * 2 A * 23] 4,000
HESHAL (MRS ) (JIEH/DIE) 223,085 241,615 A 18,530
ol 2 AHY| 159,381 159,335 46
ol 2AH| 159,381 159,335 46
101 @121l 159,381 159,335 46
01 2 17,088 16,747 341
O MsdEAI XI& L A2 22 5222 Y 17,088
o 63 93,517& * 43 x 24 8,978
o 73 84,4743 x 4H x 24 8,110




2AM: XA D
Mz HMSAHH (HMSX2)(IIEHIIE
chel: ol gyl (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
EIEEESS 78.246 74,770 3,476
O HAZE oA224Y 28,253
o &
3,814 x 18 * 8Al2H = 365 « 1/2 5,569
o AA
3,54820 * 198 » BAI2H * 3652 * 1/2 5,181
o =
2,997 x 49 x BAIZ2F x 3652 * 1/2 17,503
O HIAIGEE AN2AA2 2 U2 39,711
o A< 11,4432 » 1 = 57Al2t « 12& 7,828
o AA 10,6433 * 1Y = 57AI2t « 12& 7,280
o =4 8,992& x 4¥H x H7AI2t + 12& 24,603
O HIAZE 52222 10,282
o AA 85,553 x 12 % 68 x 1/2 2,909
o =4 72,280 x 3% x 68 « 1/2 7,373
03 RIANAZ 2+ 64,047 67,818 A3,771
O NAe2RLy 48,293
o DA (MR, L)
10,135% * 4% x 20A12F = 12&€ * 150% 14,595
o <KLp>EZ(AlEdS2edH)
13,3722 » 78 x 20A12F = 12&€ * 150% 33,698
O 542224 11,554
o ANAd=E 22 160,470 = 3% = 24 11,554
O MSAEy 23 AAL2 =X ]
20,000& = 1Y = 102 » 12& 2,400
O HMEsALd22S G2 2G5
200,000 = 9 1,800
o=l 63,704 82,280 £ 18,576
Jl2&Hl 63,704 82,280 N 18,576
201 et d| 34,227 48,968 N14,741
01 AFR 2t 2| bl 34,227 48,968 N14,741
O =2 SHH A 10,873,000& = 14 10,873
O S2Hl sHAH A 23,354,000 * 14! 23,354
202 04| 18,977 27,132 A8, 155
01 =2 LH 4 HI 18,977 27,132 N8, 155
O BASE SHHA 18,977,000& = 14 18,977
203 SR F & 10,500 6,180 4,320
04 EASHEYRFAH| 10,500 6,180 4,320
O MESXHE(44) 10,500
o 2FH(15Y) 250,000&  12& 3,000
o NLYHESZA(14Y) 250,000 = 128 3,000
o YU0HAIIE(9Y) 175,000 * 128 2,100




M HEXH B
X XH - 3 j=3
S5 ToTso

el JI=23Hl

5 - 4

A - ER(EN) - AR - B of & o4 e
o EIAMS2(4Y) 100,000& * 128 1,200
o S&H=s2(2Y) 100,000& * 12E 1,200




